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DONEM BASI YETERLILIK SINAVI

(Dilbilgisi, Kelime Bilgisi, Okuma-Anlama)

Asagidaki bosluklari doldurunuz.

AdINIZ: ..o,

Soyadiniz: .............cccooveiiiiennnn

Numaraniz; .........cccooeeevveveeeeennn.

DiKKAT: Sinava baslamadan dnce asagidaki uyarilari mutlaka okuyunuz!

Cevap kagidina kitapgik tiiriiniizii isaretleyiniz. isaretlememeniz ya da yanlhs isaretlemeniz
durumunda sinaviniz gegersiz sayilacaktir.

Cep telefonunuzu kapah konumda (titresim degil), sinav sorumlusuna teslim etmeyi
unutmayiniz.

Bu sinav Dilbilgisini, Kelime Bilgisini ve Okuma-Anlamayi 6lgen toplam 80 sorudan
olusmaktadir.

Sinavdaki her sorunun puani esittir.

Yanlis cevaplariniz dogru cevaplarinizi etkilemeyecektir.

Cevap kagidina yapilacak her turli yazi ve isaretlemelerde koyu renk kursun kalem
kullanilacaktir.

Sinav baslamadan 6nce cevap kagidindaki gerekli yerleri doldurunuz.

Sinavin toplam siresi 110 dakika olup ilk 40 dakikasinda, sinavinizi tamamlamis olsaniz bile
sinav salonundan ¢ikamazsiniz. Sinav salonunu sinav bitmeden terk eden 6grenci tekrar sinav
salonuna alinmaz.

Her ne sekilde olursa olsun soru ya da soru kitapgiginin salondan ¢ikarilmasi yasaktir.

Sinav siliresince kopya ¢eken, cekmeye ve kopya vermeye calisan kisiler hakkinda gerekli
islemler yapilacaktir.

Ornek Kodlama: | . Dogru| | @ Yanhs | @ Yanls | @ Yanls |




Choose the best alternative to complete the sentences for the questions 1-13.

(Multiple Choice Vocabulary Questions)

Example Question:

Divorce often strains and sometimes even completely ___ the child's relationship with at least one parent,
often the father.

a. retrieves b. converges c. retains d. severs e. improves

Choose the best alternative to complete the sentences for the questions .

(5 Grammar Questions in the Form of Cloze Test)

Example Question:

When | was a young man | spent a year in France, studying French at the University of Grenoble. Every Friday
I__1__ at the Alps cafe. | didn't use to spend much money__2__ | could not afford it, but it was a little
tradition of mine to eat there. Anyway, I'm going to tell you a true story which happened on one occasion
when | was eating there. | remember | was having a pasta dish at the time. A beautiful girl came up to me
and said, 'l was wondering if you ___3___to walk with me in the park?' | __4___never seen her before, so | was
rather taken aback. | was about to go with her when I noticed a tough-looking man was watching our every
movement. __5__my discomfort, the girl whispered to me, in English, 'Park - five minutes!’, and then
disappeared.

1. a. would eat b. was used to eating c. had better eat d. was eating e. would rather eat

2.

nihw

Choose the best alternative to complete the sentences.

(22 Multiple Choice Grammar Questions)

Example Question:

An allergy is a disorder______ the body over-reacts to harmless substances, _____in normal circumstances do
not produce any reaction at all.

a. in which / which

b. which / in which

c. that / that

d. whose / when

e. where / whose

Choose the irrelevant sentence in the paragraph for the questions.

(5 Irrelevant Sentence Questions in a Paragraph)

Example Question:

(I) Doping is the use of drugs to try to improve sports performance. (ll) This practice is banned by sports
federations throughout the world. (Ill) Athletes need to know which substances are banned in sport. (IV) The
use of drugs during athletic festivals is evident. (V) Furthermore, they must make sure that any product or
medication they take does not contain a prohibited substance.

a.l

b. 1l

c.

d. v

e.V



Choose the best alternative to complete the sentence for questions (5 questions)

1. Mark didn’t have to study for the exam the following week, _
a. although the questions were very difficult

b. because the exam was cancelled due to Covid 19

c. if he had known there was an exam

d. unless the exam was easy

e. so he studied the whole week

Choose the best alternative to complete the dialogue for the questions

(7 Dialogue Completion Questions)

Example Question:

Gerald: Well, all three candidates seemed pretty good to me.
Mary:
Gerald: Why?

Mary: He has both academic qualifications and the organizing ability we are looking for.
a. Right. We should have interviewed more candidates

b. I'm not sure that any of them could work with us

c. | agree. But, the last one we interviewed is the most suitable if you ask me

d. The first one wasn't really good enough

e. | don't think they are qualified enough

Choose the best alternative to complete the paragraph for questions. (8 Questions)

Example Question:

More than five hundred years ago, Europeans arrived on the continent of America. Gradually, the Europeans
became more powerful than Native American Indians and they moved these people to outskirts. . As
a result, many Native Americans speak English and live in cities now. However, on some of the outskirts, the
tribes are recording the language of older generation to save it for the future.

a. Chinese has been the most difficult language to learn for many people

b. Experts think that European languages are never widely taught in the continent

c. National Geographic Society has a new policy to find a solution for hunger around the world

d. Their language and culture began to disappear as the Europeans were more dominant than them

e. Not everybody thinks English is the most difficult language to learn

READING

Read the text and choose the correct alternative for the questions.

(Total 15 Reading Comprehension Questions)

Example Paragraph Question:

Surveys are often conducted to find out which poems are most popular among teachers, readers’ groups, or
the general public. According to their findings, | Wandered Lonely as a Cloud, the best-known poem by
William Wordsworth, regularly ranks among the top ten. The poem'’s appeal more than two centuries after
its initial publication attests to its lasting power to touch readers’ hearts and minds. Wordsworth was born in
1770 in the Lake District of England, a mountainous region widely regarded as one of the most scenic areas
of Europe. As a young man, he developed a keen interest in poetry that was matched only by his fascination
with the natural environment. He was an avid walker, exploring not only his native country but France,
Switzerland, and Italy, too. In 1795, a chance encounter brought Wordsworth together with the poet Samuel
Taylor Coleridge. The meeting was to prove a watershed moment in literary history. Wordsworth and
Coleridge immediately recognized each other as kindred spirits because of their similar poetic interests, and
over the next few years, they spent countless hours in each other's company. They were both in their early
20s, highly influenced by the ideals of the French Revolution, and inspired to write poetry that would break



with what they saw as the stifling traditions of contemporary English poetry. Their partnership, which involved
mutual criticism as well as collaboration, proved to be the starting point for the English Romantic period.
Their collection of poems, Lyrical Ballads, is considered a masterpiece of English literature. The collection
includes mostly work by Wordsworth, but it also features the compelling Rime of the Ancient Mariner, which
guaranteed Coleridge a place in literary history.

1. Which aspect of Wordsworth's youth probably had the greatest impact on his poetic style?

a. His education in the late 18th century, a period of social and political unrest.

b. The walks that he would often take, which brought him into contact with nature.

c. The opportunity to travel to Switzerland, where he experienced another culture.

d. His deepness and his way of thinking and questioning things around him.

e. The contribution poetry made to their existing movements.

2...



